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What Did the Baby Porcupine Say
) When It Backed Into a Cactus?

Determine which of the relations below are functions. Find the number of each
relation that js a function at the bottom of the page and cross out the letter
below it. When you finish, the answer to the title question will remain,

Funchion @ (=27, (-1,8, 0.9, (1, 0.2, 1) Be .74
Fanchion () {(=7, 20), 3, 5), (0. 5), (-2, 0), (5, ~4), (=6, ~9), (4, 4
Nota Functic(3) {4, 8), (-3, -2), (@, 6)((2, -1).(~4, ~5)((2,7), (-8, 0)}
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OBJECTIVE. 1-a: To determine whether or not a relation is a function. ALGEBRA WITH PizzAZ2)
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. - FUNCTIONS
- VERTICAL LINE TEST

* If an equation represents a function, there is one and only one y value for each distinct x.

Look at each of the following graphs.

Which represent functions.
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7). Explain why the vertical line tests works.
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ALGEBRA Name:
Relations and Functions Period:

Is each relation a function? Use a mapping diagram. Explain your answer.,

L {(4 7), (9, 11),(4, 6), (10, 2)} 2. {(-5,-8), (2, 4), (3, 4), (-6, -8)}
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Is it a function? I‘_\_K" 3 Is it a function? 2165
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Identify which of the following graphs are NOT functions.
Answer(s): A BCU\A D . (there may be more than one!)
o
3. [A] [B] [€] (D]

Is each relation a function? Use the vertical line test. Explain your answer.

4. {(2,5),(-3,5),(0, 5), 3, 5)} 5. {¢-1,-9),(1,3), (-1, 9), (6, 6)}
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Introductions to Functions Worksh-eet
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Use the vertical line test to determine which of the following graphs are functtons.

" hich relations below are functions? ﬂ: l m 93
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Relation #1 { (3,4), (4,5), (6,7), (8,9) }
Relation #2 { (3,4), (4,5), (6, 7, (3,9}
Relation #3 { (-3,4), (4,-5), (0,0), (8,9) }
Relation #4 { (8, 11), (34,5), (6,17), (8,19) } -

3) Which relations below are functions? m Z
C’nlj ltion # 2 bhas e X coordinat€ with
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Relation #1 { (3.,4), 4,5), (6, 7), (3,-9) )
Relation #2 { (3,4), (4,5), (6,7), (5,4) }
Relation #3 { (094)9 (49"5)5 (0,0), (899) }
Relation #4 { (8, 11), (34,5), (6,17), (6,19) }

X cannot be what values?

*  rthe following relation to be a functio

\_11), (34,5, (6,1

X cannot be




5) Frz-the following relation to be a function, X cannot be what values?
{(12,13), (-11, 22), (33, 101), (X ,22) }

nnot be ll} "Il) O 3k2

o) For the following relation to be a function, X can not be what values?
{(12,14), (13,5) , (-2,7), ®,13) } |

X cannot be | 2 13 o — 2
7) For the following relation to be a function, X can not be what values?

{(13,14), (12,5) , (16,7), (X,13) }
X cannot be . | |))} 12 ; or 1(0

Alex states that the relation below is not a function. Lillian says that it is a function. Who is correct? Explain your
reasoning. - ' '

Relation { (13,14), (12,5), (16,7), (13, 14), (=2, 33), (13, 14 }
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